RAAPLIJST VICO BRANDER G25 RK NL (L1078155)

ARTIKEL

04001602
04008700
06006600
06017301
12060430
12080320
13309000
13309800
13314100
13318900
13324710
13324730
13390150
20777300
20786120
25013160
25014250
25650043
25665360
26020030
26020040
27000120
27000130
27050120
33000003
33000320
33000385
36006700
36006800
37001043
37002033

OMSCHRYVING

LOCT.STEAM 570 250ML 348753
DOORVOERTULE 960.000.339
BOUGIE M4X1 LG SITCO.0.915.015
ZUNDK.G30-EZ5505 L550RD2-RD.4
LEIDING AL99.7 6MM L.= 430 MM
LEIDING AL99.7 8MM L.= 320 MM
DRUKST. V.BOUGIE SIT 0.974.037
TON 6MM SIT CODE 0.957.001
WAAKVL.INSP.SIT 0.977.119 NR51
DRUKSCHROEF M10X1-15 MS

TON WAAKVL.INSP.SIT 0.957.015
KOPP.OVERGANGS-15X3/8 86149.8
INSPUITER LOGBURN. 1,50 MM
VERMIC KORRELS GR.4 75GR 05055
LOGSET 4-PC.VICO PYROGL.05058
SCHR.BCK.DIN7985/48 M3X16 VZ
SCHR.C.K.M4X25 DIN7985/4.8 VZ
ZELFT.BCK.KR B4,2X9,5 DIN7981
ZELFB.SCHR.DIN7504 N 4,8X16 VZ
MOER DIN 934*8 M3 VERZK
ZESK.MOER DIN934/8 M4 VERZK
ALUM.SLUITRING 12X5,3X0,8
SLUITR.D125*A VERZ.ST19X34X3MM
TANDVEERRING D6798A M5

KNIE 3/8 BIBI NR.90 ZWART
KNIEKOPP.8X1/8 BU 0109 08 10
PIJPNIPPEL 3/8"X200 654750 VZ
BRANDER LOGBURNER 234.045.001
BRANDER LOGBURNER 234.044.001
WAAKVLAM SIT 0.160.032

TH.KOPP. SIT 0.290.062

AANTAL

PRPRPNRRPRPRRPOONPORMRRPRPRORPRRPRRPRPRREPRRERRERNER

EENH.

CcC
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST

LEVER.

147

214
658
770
770
214
214
214
230
214
253
736
238
238
22
22
22
22
22
22
92
22
22
217
148
147

214
214

MATERIAAL TEKENING

PRYS PER
STUK
0,1593
0,0711
0,6139
0,9700
0,2100
0,2000
0,0930
0,0697
0,7442
0,1860
0,0930
1,5500
0,6500
0,7600
28,3700
0,0094
0,0084
0,0087
0,0295
0,0021
0,0071
0,0064
0,4266
0,0032
0,4800
1,2800
0,7650

2,0837
1,8186

NUMMER

13390XXX

36006700
36006800



37003089
37007037
37007038
37007041
37007045
37007048
39001154
39001287
39001290
39001292
40005115
40010322
40010524

REGELBL.MERTIK GV36-C5A0OEHC68M
STOP 3/8" G30-ZSR TBVGV36 R.BL
WARTEL ZG6MM G30-ZLZ06

KAP G30-ZHN2 S REG.B.GV36ZWART
KL.STELSCHR.2,10 G30-ZEOR210
DRUKST.+KNELR.HG8 MM G30-ZCHO08
KENPLAAT CALC.NR. 79192
ETIKET LASER A4

KENPLAAT 122841 101,6 X 61 POL
ETIKET LASER 105X148.5MM A4
MINIGRIP ZAK 19X25 ART.21321
GARANTIEKAART FABER

MANUAL VICO NL

RPRPRRPRPRREPNRRPRPRENR

ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST
ST

658
658
658
658
658
658
326
326
865
123
241
826
748

20,1400
0,5113
0,4090
0,6600
0,5005
0,5255
0,2318
0,0018
0,0578
0,1235
0,0699
0,1316
0,6100



	Blad1

